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12.2 .
> Cet Stitches?
10.9 Find the missing side length, if possible (some answers are

: rounded). Cross out the letter next to the correct answer.
2.5 When you finish, the answer to the title question will remain.
42 For Extercises 1-8, refer to the diagram ot the right.
22.9 1.a=6b=8 2. a=10,b=7
o = c=
15.2 3. a=15b=15 4. a=10, c=26 ' ¢ b

C = b=
11.5
10 5, b=30, c=50 G, a=5c¢c=12 [
= b= a
21.2
| /. b=13, ¢ =20 8 a=15,b=2
Answers _ -
o ‘- e
3.2m
17.4 cm 10.
16 yd
14.2 in. 4 om
2451t
15 in. 13. 14. 44 fv
36 yd

not
possible 5 m -
1.3 mi 39 yd
26.7 ft 25 m -
3.6 m
1.1 mi 15 16 0.9 mi
16.6 cm
14.6 in. 1 in. 18 in. 50 cm 50 cm 0.7 mi
15 yd




